PRE-FINAL -1 EXAMINATION (2023-24)  Roll No. ... \d.......

DAVPSP20060
SUBJECT -MATHEMATICS
CLASS-X
Time: 3 hrs. Max. Marks:80

General Instructions: -

1. This question paper contains five sections A, B, C, D and E. each section is compulsory.
However, there are internal choices in some questions.

Section A has 18 MCQ's and 02 Assertion- Reason based questions of 1 mark each.
Section B has 5Very Short Answer (VSA)-type questions of 2 marks each.

Section C has 65hort Answer (SA)-type questions of 3 marks each.

Section D has 4Long Answer (LA)-type questions of 5 marks each.

Section E has 3source based/case based (4 marks each) with sub parts.
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SECTION A
(Multiple Choice Question)

Each question carries 1 mark

1. If p and q are natural numbers and ‘p’ is the multiple of *
of ‘p’ and ‘q’
a) pq bl p clq d) p+q

2. Zeroes of a polynomial can be determined graphically, then number of zeroes of a
polynomial P(x) is equal to number of points where it

q’. then what is thee HCF

a) intersect x-axis b) intersects y-axis ¢) Both (a) and (b) d) None of
these

3. If @ and § are zeroes of the polynomial x* — 4x then product of zerces will be,
a) 4 b) —4 c)0 d) None of these

4. Values of k for which the quadratic equation 2x* — kx + k = 0, have equal roots is
a)l bl 4,1 c) 8 d)0, 8

5. The father's age is 6 times his son's age. 4 years hence, the age of father will be 4
times his son. The present ages (in years) of the son and the father, respectively are:

a)4and 24 b)5and 30 c)band 36 d) 3 and 18

6. Sequences 4,a,b,8Band 5,¢c,d,9 are in AP, thEI‘lbj

a) 2 b)> 03 )2
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7. If the ratio of the corresponding sides of two similar tiangles is 3 :E—,E\\

theraﬁﬂ-m!-
their corresponding median will be:

a)2:3 b)3:2 e} 121 d)9:4 ‘
8. PQRS is a trapezium such that QR | PS and PS = 4cm. If the diagonals PR anq 5

intersect at O, such that %E = 3—3 = 23, then QR is equal to :

) b) 2 ) 4 d) 8

9. IfPisa point on y-axis, whose ordinate is 3 and Q is a point ( -5, 2 ), then distance
PQis :
a)5 b) V24 ¢} V26 d) V65

10. The coordinates of a point P dividing line segment joining the points A(1, 3) and
B(4, 6) in ratio 2 : 1 are-

a) (2, 4) b) (5, 3) c)(4.2) d} (3, 3)

11. If sech + tand = \Z, then secd — tang is equal to:

a) 2 b) 'u'LE c) V2 d) none of these

12. A tree of height 6 m casts a shadow of length 4 m. At the same time a flag pole casts
a shadow of length 50 m. The height of flag pole will be:

a) 50 m b) 75 m ¢) 100 m d) 150 m

13. If tangents PA and PB from a point P to a circle with centre O are inclined to each
other at an angle 809, then Lﬁﬁ‘;—@m to:

a) 800 b) 500 c) 700 d) 600

14. The number of tangents to a circle from a point P lying inside the circle is:
a) 2 b) 1 c) infinite d) zero

15. A card is drawn from a well shuffled deck
the card will not be an Ace, is::
a) = b) 1 Sk d)o

16. The integers 1 to 30 arewritten on cards and these cards arewell shuffled and putin

a box. One card is picked at random. The probability of getting an even numbered
card is:

1 1 2
a) < b) > Sk d)z
17 Fuy =35

of 52 playing cards, The probability that

o+ Lfith = 20 and 3 f; = 100, then mean s;
a) 27 b) 25 c) 23 d) 30

_""f
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18. The hour hand of a clock is 8 cm long. The angle swept by the hour hand between
9:20am and 9:50 am is:

18

21.

24,

a) 150 b) 300 c) 90 d) 1800

ASSERTION-REASONING BASED QUESTION

In the following question, each question contains statement I (Assertion) and statement II
(Reason). Each question has 4 choices (a), (b), (c) and (d) out of which only one is correct.
The choices are:

a) Both statement I and statement II are true, and statement Il is the correct explanation for
statement L.

b) Both statement | and statement 1 are true, but statement 1 is not the correct explanation
for statement L.

c) Statement I is true, but statement 11 is false.
d) Statement [ is false, but statement II is true.

Statement 1(A): the nth term of a pattern is given by 3n* + 1.. This pattern form an
AP,

Statement 2(R): nth term of an AP is given by formula a, = a + (n — 1)d.

Statement 1{(A): The probability of wining a game is 0.70, then probability of
loosing the game is 0.30.

Statement 2(R): Sum of the probability of an event P(E) and its not event P(E) is 1.

SECTION B
This section comprises of very short answer type- question (VSA) of 2 marks each

By using prime factorisation method findHCF of 648 and 8 and hence find their
LCM

The value of k for which the equation 2x* — (k — 1)x + 8 = 0 will have real and
equal roots..

If 3 sind = Itand, the find the value of sin # — cos® 8
OR
If sin(A-—B)= IE and cos(A+ B) = ;-, then find the value of A and B.

Show that the points (=2, 3),(8,3)and (6,7) are the vertices of a right angled
triangle.

OR

Find the value/s of % such that FQ = QR, where the coordinates of P, Q and R are
(6,—1), (1,3) and (x, 8) respectively.
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27.

29,

30.

31.

32

50-60 | 60-70 |

hort answer type questions (SA) of 3 marks eac,
5

This section comprises of

Prove that 43 is irrational. |
s in the form of a hollow hemisphere mﬁ:uﬂted by a hﬂﬂ:’.‘lhf cylinder, 3,
jjvﬁ;rmn::he hemisphere is 14 cm and total height of the vessel is 13 cm, Fin
am
capacity of the vessel in litres.

OR

corl
A wooden article was made by scooping out a hﬁfﬂﬁphﬂfe fmm EECI'.I end of a soli
cylinder. If the height of the cylinder is 10 cm and base radius of cylinder and con
is 3.5 em each. Find the total surface area of the article.

A circle touches all the four sides of a quadrilateral ABCD. Prove that AB + (D:
BC + DA,

Which term of the AP. 6,13, 20, 27,.... is 105 more than its 25 term?
OR
If the sum of first "n’ terms of an A.P.is/m’ and the.sum.of first ‘m’ terms is ‘1"
Prove that sum of its (m + n) terms is -(m+n)
tand tand

Prove that =
secA—1 T secd +1 2 cosecA

If AD and PM are medians of triang] o e
Q

—_——

PM
| - SECTION D
This section comprises of long answer type

Following tables gives the state

questions (LA) of 5 marks each
India

- Ir
Wise teacher-student ratio in secondary schoo!

per teacher

Number of students | 15. |

No. Of states,/UT |3 40-45 50

Find Mean and media;-gf-_t}-ﬁs ::Iata_ 0 0 _

e ]
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/:,n@;;md is in the shape of e
/ 5

a cuboid wi ;
APR s, The dimensions of the cuboid 1h four conical depressions
¥ Id pé 10 cm b}' 3.5 em. The

ds on the top of
atue 1.6 m all stan P ot a pedestal. From a po;
3].;19 of elevation of the top of the statue is 607 an ds Point on the ground, the

. rom the same point the angle of
Jevation of the top of pedestal is 450, Find the height of pedestal. (use 3 = :I?i;? ‘f’

°

OR

from the top of a tower 150 m high, a man observes two car
of the tower with angles of depression 300

between two cars. (use 3 = 1.73)

%. (i) State and Prove Basic Proportionality Theorem, )]

s on the opposite sides
and 45° respectively. Find the distance

(it) Prove that diagonals of a trapezium are proportional. (2)

SECTION E

This section comprises of 3 case-study/passage-based questions of 4 marks each
with two sub-parts. First two case study questions have three sub-parts (i), (ii),

(iii) of marks 1, 1, 2 respectively. The third case study question has two sub-parts
of 2 marks each.

36. Sushil has onlyRs50 and Rs.100 notes with him. The total number of notes that he
has is 65 and amount of money he has with him is Rs. 5250.

Based on the given information answer the followings:

(1) Write the pair of linear equations in two variables

(ii) Find the number of notes of denominations Rs.50 and Rs.100.
(i) 1f 3x + 2ky = 2 and 2x + Sy+1= u_l"lfﬁ Mo solutions, then find the value of k.
OR
Write condition for pair of linear equations in two variables to be consistent.

37. Students of class 10 are asked to prepare campaign banners in Ehe shape of triangle
to raise social awareness about hazards of smoking. The vertices of one of the
triangle formed are A(-Z, -1), B(3, 4) and C(-3, 4).

Based on the given information answer the followings:
(i) Find the coordinates of the mid points of BC,

(ii) Find the length of median through A
(iii Find a point on AC which divides ACin2:3,
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OR
What type of triangle ABC is, Justify your answer.

38. A brooch is a small piece of jewellery to fasten on dress. A brooch is made of silver
wire in the shape of a circle with diameter 28 mm. The wire is used for making 4
diameters which divides the circle in 8 equal parts.

Based on the above information, answer the following questions:
(i) Find the circumference of the circle of brooch.
(ii) Find the length of silver wire used to make brooch.
(iil) Find area of each part (sector) in the brooch
OR
Find perimeter of one sector formed in the brooch.
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